20205 BEHREXFRFEREFHRH

ELBREARSBRER
— R AZFHER (BN ZER) == = -
[R5 P& =
| X 5B BR 2@ | Zaa® | 2R | AIAE | 2E | (AIAR
: — Q 5 2 5 2 1 1
KA 33 13 5 13 5 9 3
. —-Q 0 0 0 0 0 0
Rk A 20 15 20 15 3 3
i — i 0 0 0 0 0 0
REFHA BFE 0 0 0 0 0 0
o : — % 2 1 2 1 1 1
FE-tek e
e i M m—" m—" —"—
SNROEL EEVE SR = > 7 = 7 7 5
e —.Q 0 0 0 0 0 0
REA FEXS 1 0 1 0 i 0
s — A% 0 0 0 0 0 0
RAA FEES 0 0 0 0 0 0
. R 0% 0 0 0 0 0 0
EFRREZRE (FAE) PEL > ] > ] ] ]
.- —hE 4 1 3 1 1 0
= FEES 1 1 1 1 1 1
s — i 1 0 1 0 1 0
fTBuA B 0 0 0 0 0 0
Flsk — ;’ZL 1 0 1 0 0 0
BEFEY Sk —%QE 0 0 0 0 0 0
Tl 5 2 ‘é@ﬁ;i 0 0 0 0 0 0
e — 1 0 1 0 0 0
HRBE %éz 0 0 0 0 0 0
. R 0% 2 1 2 1 1 1
ERRBER% (%) X 8 B = B 5 5
NP —hE 0 0 0 0 0 0
BEF "”ﬁzi 0 0 0 0 0 0
AL S 0 0 0 0 0 0
R s —-Q 1 0 1 0 0 0
AR FEES 0 0 0 0 0 0
BEEEEFER 4. —h% 1 0 1 0 0 0
KA Bd 0 0 0 0 0 0
I e m— — p——" p—
EP A Lol X2020F ESEELE
. — % 0 0 0 0 0 0
REA A 2 1 2 1 1 1
=t — % 18 5 17 5 5 3
: e 51 34 50 33 23 15
—BAFRR (ENZR) S it 69 39 67 38 28! 18
— B A ER (E 5 2ER) == -
[[53 XE% [=]
B | B8 B2 2@ | kaa® | 2R | EIAE | 2E | (KIAW)
R e 6 5 6 5 4 4
o & EEEES 2 0 2 0 2 0
RERF N e alE:  |2e i 0 1 0 0 0
1FFE B 1 1 1 1 0 0
NEFER L B 0 0 0 0 0 0
— i A A ER (HE5 ZER) & & 10 6 10 6 6 4
XHEEEDH--FIEDHCH
iA ih S
T kS ZBRa BRE
i B2 2@ &za® | 2B &IAR | 2B (ZTAR
B R o HE A 1 0 1 0 1 0
EE-EXTIBEE HEA X200 EEEEIE
MM ERSEEE HEA 1 0 11 0 11 0
HERpFELE HEA 6 0 6 0 3 0
HEEE, Haml- RERRDRETER |[EE A 9 6 9 6 7 5
EEEMEOERLE #HEA 4 0 4 0 4 0
#HEAAFHEERSE 21 6 21 6 16 5
I — g -ttE NG5 100" 51] 98! 50] 50° 27]




